
https://www.passapply.com/500-901.html
2024 Latest passapply 500-901 PDF and VCE dumps Download

 

 

 

500-901Q&As

Cisco Data Center Unified Computing Infrastructure Design

Pass Cisco 500-901 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/500-901.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

500-901 VCE Dumps | 500-901 Practice Test | 500-901 Braindumps                                1 / 3

https://www.passapply.com/500-901.html
https://www.passapply.com/500-901.html
https://www.passapply.com/500-901.html


https://www.passapply.com/500-901.html
2024 Latest passapply 500-901 PDF and VCE dumps Download

QUESTION 1

When can you use UCS Director to provision Service Profile template? 

A. For initial Service Profile template 

B. Always 

C. Never 

D. Only for updating Service Profile template 

Correct Answer: A 

 

QUESTION 2

You are creating a Boot Policy to have your Cisco UCS Server boot from SAN. What option shows the correct process? 

A. Include a vHBA in the Boot Order list, provide a Boot LUN ID, and Provide the WWPN address for the Boot Target 

B. Include a vHBA in the Boot Order list, provide a SAN ID, and provide the WWPN address for the Boot Target 

C. Include two vHBAs in the Boot Order list (vHBA-A and vHBA-B for redundancy), provide a Boot LUN ID for each
vHBA, and provide the WWPN address for the Boot Target 

D. Include two vHBAs in the Boot Order list (vHBA-A and vHBA-B for redundancy), provide a SAN ID, and provide the
WWPN address for the Boot Target 

Correct Answer: A 

 

QUESTION 3

An administrator needs to configure NPV between an edge fabric switch which will support application servers, and an
upstream core switch. A Fiber Channel (FC) link exist between the two switchers. 

What two statements are true about roles on the edge fabric switch? (Choose two.) 

A. The port that connects to the core switch will be an NP port. 

B. The ports that connect to the servers will be F ports. 

C. The port that connects the switches is a TE port. 

D. The port that connects to the core switch will be an FP port 

E. The ports that connect to the servers will be N ports. 

Correct Answer: AB 
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QUESTION 4

The HX Data Platform architectures uses which two data optimization features? (Choose two.) 

A. Non-disruptive RAID recovery 

B. Inline data compression 

C. Post-process data compression 

D. Cluster-wide garbage collection 

E. Inline data deduplication 

F. Post-process data deduplication 

Correct Answer: BE 

 

QUESTION 5

An application is running in a data center as a set of virtual machines running on a single physical host. The host is
using an NPIV enabled HBA. 

What capability does this offer? 

A. Only the physical host can logically connect to the SAN fabric, thus enhancing security. 

B. The number of FlOGls is kept at a reasonable level, and therefore cannot saturate the SAN fabric. 

C. Inter VSAN traffic can be switched directly by the HBA. 

D. Each VM initiator can be managed independently, since it will generate its own FLOGl, and have its own pWWN. 

Correct Answer: D 
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